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1. Spwublyjwljughls tynpbp
30197631 f@nine A-4 Snpdwinp uu Snuth 400 2 000 800 000
30197232 rnpwwwbwl-wnwgwlwnp Uu Cwin 500 100 50 000
39263200  |Spwublywluwht ghpp Uu Zwin 50 800 40 000
30192135 |Uwuwhwn uu Snuth 300 100 30 000
30197321 |Gwnhy uu Cwin 20 4300 86 000
30197330 Twlhs uu Lwin 10 6 800 68 000
30197112 Ywnhsh wubn uu Sntth 100 250 25 000
22813000  [Upfuwwnwiwpdh hwawplh ghpp uu <win 10 2500 25 000
fFwuwp uu Lwin 50 500 25 000
30192111 lGrwlwph pwpahl uu Lwn 30 750 22 500
30192121 Snhs uu Lwin 700 100 70 000 -
30192121 [9nhs ghjwhu Uu Zunn 350 120 42 000
30197221 |Udpuwy Uu Snuh 250 50 12500
30194810  |Rwunb uu Cwin 50 550 27 500
30197231 Dy Uu Snuh 59 1000 59 000
30234300 |7hul CD uu win 200 150 30 000
30141200 |Ubnuitih hwgps ~Uu Zuwin 15 4500 67 500
30234610  |Upwwpht hhgnnniejwl uwpp T uu <wn 5 4000 20 000
Cunwdbkup 1500 000
2. Spwhuwynpunughls ynypbp
91322000  |Ptughu Rre Lhunp 5000 490 2450 000
Ubnddws hbnniy qug q< la 12 000 120 1440 000
Cunwdkup 3 890 000
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4545000  |CUREnh Uohnipinilinh plpwghy ac pud 1 1000000 | 1000000
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Tuwnlwhnyphun hwdwjuph Lnpwybl,
Sbnwnhp, Cuwpbpn, Sbnwann L
45231116 Phppwnwn puwlwdwpkph ey “wd 1 97 274 000 97 274 000
ququinwnh ubpphl gulgh
Ywnnignu
uptinh L ohtu
Gatipbyfy U shumpiniabinh Y ac Fpwd 1 2900000 | 2900000
JbEpwunpngnud
Cunwdbkup 103 174 000
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71314100 k(. Eubipghw Uu Hwd 320 000 50 16 000,000
Twnlwhnypun hwdwjuph hup =
64200000 |puwlwlwipbph huwnbpubn Yuwwh Uu Fpwd 12 45 000 540 000
Swnwjnintu
unlyaihafun:phulpadumh uu Ypwd 12 30 000 360 000
huwnbpibn Jwuh dwnwjnipni
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u
C4SC Snuignh vujuutnyu uu Hnuwd 12 75 000 900 000
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Snypwhwnpyh Jhwubwlwu
hwdwlwpgh uwwuwpldwu uu “pwd 12 43 000 516 000
Swnwjnijniubibn Y
Uwwhnwgpwlwl dwnwjnipiniubbp uu “pwd 9 30 000 270 000 —
7amzie. | llimh hudwlwpgnnk uu Hwd 12 80 000 960 000
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Ywnwwnswlwl dwnwjniupniiutp uu Trpwd 1 540 000 540 000
Quithwgndwl dwnwjniejniitbn 9L Tpwd g 800 000 2 400 000
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Cuwpbpn, Sbnwdnp b Peppwnwn
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dwnwjnipjniuibinh dtnppbpnud
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Upwguwdninuh dwpgh Swnlwhnyhun
hwdwjuph Unpwabl, Sbnwnhp,
Cuwpbpr, SEnwannp b PEppwnwn
pUwlwlwpbph gwquitnwph
swithwapdwl Swawnipntutbiph
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